TRUETONE MOD. D4620

RESISTENZE

R1 = 1 MQ R2 = 33.000 2
R3 = 15.000 2 R4 = 150 Q.
R5 = 330 Q R6 = 3,3 MQ
R7 = 47.000 2 RO = 4,7 MQ
R10 = 0,22 MQ R11 = 0,47 MQ
R12 = 680 Q R13, R14 = 100 2
R15 = 1500

CONDENSATORI
C1 = trimmer C2 = 80 pF
C3, C10 = 500 pF C4 = 200 pF
C5 = 50.000 pF C6 = 50.000 pF
C7 = 0,1 Mf | C 8A-B = 100 pF trimmer
C9 = 20.000 pF C11 = 2000 pF
C 12 A/B/C = 20/15/15 Mf, 25/350/350 V
C13 = 10.000 pF C 14 = 3500 pF

c15, C16, C17 = 0,5 Mf C 18 = piastra scintilla
C19 = 250 pF.



